A & 0l & A
20219 & | JIEtSE A, BINSSE3H A G dAH)
= - A (SI) Ol &k o J &3 oA HwE2 =28
Al 81,412,688 77,211,464 4,201,224 5.44%
ALY 66,453, 181 61,344,334 5,108,847 8.33%
HWegs 14,860,011 15,767,634 A 907,623 A5, 76%
dE=2SH 99,496 99,496 0 0.00%
getssdd 26,663,364 26,342,396 320,968 1.22%
Lty 26,663,364 26,342,396 320,968 1.22%
HAMAE 26,663,364 26,342,396 320,968 1.22%
&I E BMAE SEE3H) 26,663,364 26,342,396 320,968 1.22%
S 17,813,458 17,860,528 A47,070 A0.26%
ot - =2 17,813,458 17,860,528 A47,070 A 0.26%
a2t 9,598,879 9,773,783 A174,904 A1.79%
ZAARN UYL HEN SZ(4=TAHS 9,598,879 9,773,783 A 174,904 ANT1.79%
230)
3ot 2el 8,214,579 8,086,745 127,834 1.58%
SteHMelZMG (=ENLELE3H) 405, 188 248,692 156,496 62.93%
St A8 2L (AEHIE)(St=Z AL S L3 6,309,053 6,309,053 0 0.00%
A
St AE HE(AN2EXE) (Gt AIEES 1,500,338 1,529,000 A 28,662 AN 1.87%
sl Al
At = Xl 1,996,054 1,954,988 41,066 2.10%
IZdEEd 1,143,207 1,148,854 Ab,647 N 0.49%
NasSsS 408 X 201,112 201,112 0 0.00%
g (Mal=XISEs ) 201,112 201,112 0 0.00%
I =HEEY 942,095 947,742 N5,647 20.60%
SESHAME (A EXNEES A 942,095 947,742 Nb,647 A 0.60%
A2l =X LBt 852,847 806,134 46,713 5.79%
Hees(lden) 852,847 806, 134 46,713 5.79%
SBENE(AZ2SHAMY)(AISIENELE3IA) 53,673 31,600 22,073 69.85%
SIS (HEAMY)(MBSTEESA) 799,174 774,534 24,640 3.18%
SEofl 2=t 9,051,843 9,018,000 33,843 0.38%
sg-s& 9,051,843 9,018,000 33,843 0.38%
s ASEH 239,000 239,000 0 0.00%
%W;&%‘EI}% EMNH(sHELINSEE 239,000 239,000 0 0.00%
2/ Al




20219 = =3 2 3 JIEHSE3 A, SINLSESH A (chel: &)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 pp—
sSEE
Heegs(sgd33n) 8,812,843 8,779,000 33,843 0.39%
UWEAHHIE(sLEHL) (sHELIENSSE 8,812,843 8,779,000 33,843 0.39%
313)
bl - SIS0 13,578,978 12,213,460 1,365,518 11.18%
=X 621,718 610,000 11,718 1.92%
saJg=sd 621,718 610,000 11,718 1.92%
SAJNYSENS N (ENING=SENSSE 621,718 610,000 11,718 1.92%
313)
AR E - DES 5,194,321 6,182,500 A.988,179 A 15.98%
Hees (LAl 2 ) 11,821 1,000,000 N 988,179 A 98.82%
;H—'?’—HEHXI%(%‘E&—?E‘XIQXI%/\PS%%‘E%I 0 1,000,000 21,000,000 =z
BEXNE(ENMLAFHIAXN AL S S H) 402 0 402 =35
SBENE(MASHIZLAISSHSIH) 11,419 0 11,419 =3
H2as (el 2 ) 5,182,500 5,182,500 0 0.00%
HWEHHXES(ELIILSLENSSE3A) 5,182,500 5,182,500 0 0.00%
Ol LA Xl ¢ AHR O & 7,762,939 5,420,960 2,341,979 43.20%
EHAFHISA 7,762,939 5,420,960 2,341,979 43.20%
LHAFHEHIS JI2XNEAL (L AFEI A 3,420,113 2,425,960 994,153 40.98%
NAMNEELSIAH)
LHAFHIE SEXNIAL(LHELAFTEI A 4,342,826 2,995,000 1,347,826 45.00%
KNEASES3A)
M= 4,536,000 3,654,000 882,000 24 .14%
sns - =25s)I& 4,536,000 3,654,000 882,000 24 .14%
nsHE o 4,536,000 3,654,000 882,000 24 .14%
AT EMG (FUHESESA) 4,536,000 3,654,000 882,000 24 .14%
ELR AN 7,673,495 6,068,596 1,604,899 26.45%
NS A 1,050,495 1,045,596 4,899 0.47%
SAAHE & OR 303,938 303,500 438 0.14%
ZII0IEEUKNEA (HI0IEEZAAE AL 303,938 303,500 438 0.14%
NEASESA)
=8 244 & 29 161,220 130,920 30,300 23.14%
;g-g’é'lji$‘:=\” NIAMS(SSEHFE SE3 161,220 130,920 30,300 23.14%
Hegs(A=Hgn) 585,337 611,176 A 25,839 A4.23%
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